DR BEE RIFRPAREERET RS R EFE e ‘j; = &5 — %: 7 B+
SFI34E TH25H (H)~ 7H26H (H) F - RIGRDERAEEY - RIGREEEZE S - RigkE RS BB 0 T AT REARZ DT LRI (RIGRSCR G EE) AR EBE)
X g 141 2 {if 3{ir 447 5{ir 6 i,
| oA R K4 P R ik K4 R PR ik K4 ) PR ik KA CHE) PR ik KA CHE) PR ik K4 CHE) PR Rk
1 100m |+0.3|#&)s 1&&E (D) |46/ 0 121512 F  HUE (1) Z8 12.27(7)11 Bk (1) |[f&iC 12.35( A EA (1) ##)1 12.38| &M —H (1) [fkEx 2. 4114 im0 &85 12.48
* 1500m & EA (D |# ©4:19.03|AF  WH 1) | BE5HE- 4:29. 83| AT B ZEF (1) T 4:33.93 k% B} (D &I 4:33. 971 F ik (1) BEHEE 4:41. 6205 ARk (1) AH 4:41. 62
4X100mR nEREFZE (1) H 49.93[kalF 2N (1) | R KR 50.24|ex A 75 (1) (KA 50. 81|Fnf ok (1) B 51.43|9F s (1) RS 51.55|@iffH  f2H (1) W 51.77
wE &E O wmE o L5171\ =R OY) e B a2t (D i SR (D
oS A SR SR (D) e #E (1) He R (D) HIAARE (1) g NokE (D)
Pl B (D AHCREE (1) e Egk (1) R R (1) e et (1) WA B )
é 100m |-0.8|HF FHiE (2) HF L1 41|70 SRR (2) R KR 1L 43(fEH KA () | wEi L 1L 73|55 s (2) fU% 11. 96|22 Ek  (2) |#6 12. 02|28y #4y (2) R H K 12.07
1500m SUSHUORHT (2) \#Ekn 4:14. 31| K (2) | R 4:15. 9|/ O (2) HIE 4:19. 78(jEy R (2) A 4:20. 96[FEFT  EE (2) AR 4:22. 05|HiTH  JeFE  (2) WEHE 4:29.24
4X100mR e M @) # ©45. 3210 —8 () | RIGKKHE 46. 20| I —BE (2) | HE 46864 F B (2) | SRR IR 47.78(pkks By (2) | 4T, T9[IERE R (2) AR 47.80
wiE EE&k (2) HH EE (2 HEH B (2) B (2) Ak K (2) ANEERE S S (2)
HE o HE (2 ®E O (2 [ ()] IR (2) FHFE L () BRI (2)
PEOEE (2) R K (2) s (2) e rE () SN g (2) TR SR (2)
3 100m |+0. 3[fEA  FEX  (3) |PHARE 11.28|lhE &M (3) Hpp: LL 4L EHR ZFE (3) el 11.60|KH s (3) |PEHS 162 B (3) Bl 1L 79[HU &2h (3) ik 11.92
* 1500m BH A 3) &L 4:11. 83|72 W K (3) L 4111 91ka T L (3) LB 4:11.98[F GEA () [#B 4:13.24[5010 pHEE (3) WEHE 4:15. 84K #EIT (3) R 4:19.79
g 200m |-0. 6|VEAS FEA  (3) | WpH 23.20|%@ A ALME  (3) REDVE 23 44|IF &R (3) R 23 90| EX (3) [k 23. 93| HA Kl (3) R KHMR 24 16| A0 Fim (3) [ dbwlR 24.16
400m TR HEEE (3) Rk 52. 54| REF MK (3) |k 53. 20(HT HIAE—RE  (2) | RE IR 54. 27| 5L H(3) Bk 54. 79|k ZEK (3) | Hllik 55. 17(H4s  Hd (3) 4B/ 55. 68
800m W L 3)| L 2:01. 52(dbg A% (3) | =W 2:02. 87|51 & (3) [y 2:03. 45|A8%)11 —  (3) @I 2:06.96|(HE R (3)|Fi 2:07. 71F 4wk (3) R EHE 2:09. 04
3000m o GEA Q) [EB 9:04. 352 H A (3) Il 9:04. 35|72  EK  (3) AL 9:04. 43| FBAE IR (2) | Hem 9:15. 75[kaA 3} (3) JAH 9:17. T4 IR B (3) [ RA 9:26. 38
110mH +1 1|11 BB (3) | 15. 30(RiTH (3) | &6 15. 40| AKKS FEK (3) | R IGKHE 15.93[db)1 s (3) | g 16.07(fEH A (3) | 16. 10(%@ 1L BEST  (3) | M 16. 52
4X100mR P G () |k 44. 07| VA BK () Wyt 44.39[FA BB (3) | R KR 44.96|HH0 A (2) | E 45 18[HI H 3) [BEASR 45. T3 K (2) [JEER 45.88
A BEX ) e & (3) TEiE K (2) E KA () HH RE Q) fI Fin B)
A el (3) AN bt (3) IR ERES (3) A A B) wA AL (3) JITF Rk )
Wi R (3) Sl g (3) WA K (3) Rl ER (3) Ltz (3) B (3)
A F Bk AN b (3) BEHE Im82|fkiE A (3) ER Im76|F L 0 (3) LAk Im73| %245 FHE (3) B H Im70|faA&  —B  (3) & m70[&HH  fEHE (2) EREKHE 1m65
ek REA Mt ()[R AR Sm20|#4 M KB (2) [ER 2m80|ARE G 3} (2) | Rlir H K om8O| P HEE (2) |LLH 2mb0|FA PR (3) W 2m60| M ==Fn (3) L
A Bk e SER (3) | OI6m69( Ak A (2) Rl Kb 6md4| EHALZ A (3) [BEAYR 6m24| AR RS (3) R eml2[iEAK B (3) [Eant 6mos|fAAR  —f  (3) EHIE 6m01
(+2.2) (+3.2) (+0.7) (+0. 4) (+1.1) (+1.0)
Rk KREFZE (3) |5 12m65(R  HZ2 (3) |ALakR 12m32[)11F K (3) S H Ioml5|AFn K (3) |%%n 1Im96| Pl KA (3) ) LIm88|fiAk @i (3) RS S 11m83
(+0.3) (-0.2) (+1.5) (+1.8) (+0.3) (+0. 4)
fi fL A% Rk ) |ER O113m34| )1 BRFER  (3) | KA 12m17|8% B ) REHK Lm99[FHE At (2) |ER 10m61|JEL AR (3) | AT Loms2 (A DHE (3) |FA S 10m08
15 100mH +0. 2|fEfE A (2) BB 1410|483 #ath (2) | PERRR 14.43(#510 BER () | PSR 14,47\l K (2) [f&iC 14 99| B4 (2) [HR 15 10P/INIT 3@ R (2) Wt 15. 32
; 4X100mR et —81  (2) RIGKHE 48.23|li0 R (2) | PHRRE 48.62|BIC i (2) | FIK 19275580 #ik (2) [Tk 19. 35|FEM S (2) HE 49.79|H EE () # 49. 84
w1 Rz (1) fEH A (D K =S (1) B BEA (1) i) S - A OY)
BoORHEE D) HHOHA (1D e e () WH A (D A AR FIA&SE (D
R (2 Wi gk (2) A A (2) R (2) HH W (2) B R (2)
[ 17 2L 34 447 5 6L
[5Re 47 53 PE R 37 51 E PNy 37 51 il 28 51 [E R, 21 51 FRIL 20 4%
¥ 2 & 30 B A 07
Yo B A/R 7/25 7/25 7/25 7/25 7/25 7/25 7/25 7/25 7/26 7/26 7/26 7/26 7/26 7/26 7/26 i B OEm JE R GE PR e
OBy 53] 9:30 10:00 11:00 12:00 13:00 14:00 15:00 16:00 9:00 9:30 10:00 11:00 12:00 13:00 14:00
O KR&H KA &Y Hh &Y L) il i i Lre il i i Hi i Hi i s Ek e e PR KB
DNREM JEL[A] H’ Elw 3 A iEla H 3 L Elea H HEH | AeAtR 3 Elw L
O:&EKRESM |EEMms)| 1.0 1.6 0.4 0.2 0.7 0.7 0.8 0.4 1.0 1.3 1.1 0.8 1.0 1.3 0.6 %M R (M) KAk & T4-wh) HH A
FEE AR ZERE | SIR(C) | 29.5 31.0 32.0 31.5 32.0 32.0 32.5 32.5 32.0 33.0 33.5 33.0 33.0 33.0 33.0
KYU: S R 23 1855 | 1L (%) 56 54 52 52 49 45 46 46 52 50 50 50 47 42 42




B SEE RIFRPFERAERERS b EFE R }; =0 bk . %: 7/(7: —a
SFI34E TH25H (H)~ 7H26H (H) F - RIGRDERAEEY - RIGREEEZE S - RigkE RS BB 0 T AT REARZ DT LRI (RIGRSCR G EE) AR EBE)
X JIERE 117 2L 34 447 5L 6L
| R R K4 P TR ik KA R PR ik KA CHE) PR ik K4 CHE) PR \ ik K4 CHE) PR ik K4 R PR Rk
elﬁ 100m -0.4|Fk #K (1) |FEHHE 12.87|&FH E1 (1) W 13.02| 1A HH 1) EAES 13.34[ KA EH3E (1) RiEKHR 13. 37| & M EESS (1) PERRR 13,76 A (1) |ER 13.88
800m HEOREZ ) [HREHR 2:25.81|1#&%  #¥ (D |[HEWR 2:26. 09| AHTBIHEAL (1) | RIGAHE 2:27.56|J5 22 (1) A 2:27.58|MJ11 BTy (D) M x 2:29.52|FH Az (1) BHHE- 2:29. 95
4X100mR A B (1) P ©52. 44t L0k Y (1) |[ElHK ©52.53|HA FHE (1) | RIRKHE 53. 64| hE (1) W 54. 80[{ERUMD (1) [fezss 55. T4|IIF &3 (1) |46/ 0l 56. 03
sk R (D fing 0F (1) KA H¥ Q) HHOE (D A A (D AE (1)
HhpEES (1) kOB (1) E S L G HE R (D Il #ERE (D & OkE (1)
M B (D )l s (1) A R (1) Hik B (1) MEEEE (1) TE B (1)
é 100m -2.4| =3l #K (2) RIGKHIR 12.93(IEh Akt (2) | Ll 12,990k #7  (2) | MR 13.20([A Mg (2) |86 13,304k EhE  (2) | 13.53[#E L Q)| BEF= 13.70
800m SHBHAY  (2) | EKE 2:19.57| BB =AY (2) BEDSIR 2:25.00|FRIL D (2) B 2:26. T21EA A (2) [IIE 2:28.50|ka7%  Biz  (2) AH 2:30. 35[4LJ11 o (2) S 2:35.16
4% 100mR EAK e (2) [ RIG KRR 51.32[HEN  Kx (2) [BEAYR 52. T1|ocky AL (2) mH 53. 16|54 HOKL Y (2) @l 53. 33|# H #(2) WA 54. 05 ZKAE (2) B 54.18
w% itk (2) W AR (2) HkoOPHE (2 KASRESE (2) eig HA&E(2) A E (2)
E I )] W B @ HHE My @) HIBOR7=  (2) e s (2) WH O ()
=W # (@ M BkRE (2) A FERE (2) R R Q) SEH ZE(2) R R (2)
3 100m |-1.0[Ff LA s & (3) Rl A K 12.56(1LU°F 2 (3) /B 12. 88| e (3) | & 13. 09|/MATO L 0 (3) | BIRE = 13. 21K HEE (3) RIKHE 13.32) )\ Z&fE (3) JAH 13.45
& 800m B &Y (3) KE 02:15. 79|& M2 L& () MHal J2:16. 08|k Bk (3) #hizs= 2:21. 83| TRk (3) BB 2:22.57|/4;  TAE  (3) WA 2:24. 99| MMl AL (3) WK 2:25. 82
?é 200m |-0.6|H LA & (3) | RMH K 25, 46| Ak (2) [JLsE 26.36([A MEE (2) BB 26.44EM H (1) e 26.66[7KIL BiF  (2) | RER 26.97/MEO LY (3) IR = 27.10
=1 1500m FREZLE Q) AR D4:35. 77|80 &9 (3) KA 4:46. 24| 5B b0 (2) EikE 4:49. 97| TRk (3) (BB 4:50. 44 MM AL3F  (3) R KHER 4:53.47RE B3E (3) [fe& 4:54. 00
100mH -0. 5|#AH 245 (3) Rl H K ©U13. 97| =l &M (3) I O14.58| = #&  (2) Rl KHR 14.89(kaA B (3) |46/ il 15. 54 (Rl #E2F (3) |[E 15.99(%H  pE  3) | RKT 16.13
4X100mR A% FifE (2) |RIREKHHE 50. 03| Mg~ (3) [ Rk H K 50. 10[{EA HEP (1) |k 5L 7T7|JH B (1) B 52. 28[kaA B (3) |48/ 52. 34| A KHE Q)| BB 52. 86
=l @ 3 I )] EHAR OER D) I ZEME (3) RA ®E Q) EE LE (2)
MHE R (3) FEoky @ HhES (1) BER N )] RF M (3) e BRI )
R NEE SNE)) Frarsx (3) H ZH (3) HHE BT (@) JIF ®ir () INEOE Y (3)
A m Bk Pefpsx -+ (3) Rl A K Im51 RIFHER  (2) | LR mbl{kafE  AZE (2) wH ImdO[faAR Mm% (3) | HH mdo|fagk  £H () /NEH ImdO| %D (3) |l 1m30
FE OANE Q) PHR
e A Q)&
A Bk B 245 Q)| RIFAR O5mb4 [ fRE < B (3) | Rk KHHE 5m05| &k AW (2) Rl H K moz|Mn FA () RH 78| R NG (3) PE Am72|%EIL /N (3) R 4m70
(+0. 6) (+0.9) (+0. 1) (+0.5) (+0. 4) (+1.7)
i AL g % Q)| EAS O14m30| At Hh3E  (2) [EHA Lim76(hE  #HE (3) |Hm Lim62(FEH TR 7 (2) |[E A LIm05(78 5 it (3) AH 1om77[FKAK O Y (3) 3k 10m65
TiESOO14m75
E 80mH|-1. 07k #EA (1) |PHHE 12.48|K%  Fnfk  (2) RIGKHE 12,51l ok (2) | et 12,60k Akt () |FAH 13,14 iuA B () |fezEss 13,2480 P (2) | PH 13.25
4 |1 100mR B B (2) | R H K 52. 19| % (2) RIGKHE 52. 28| &N (2) M 52. 35|20 iFE  (2) HURIE 5290\l M (2) MR 52. 99|l Setx (2) 4B/ 54.15
fials 0 (1) KA HE O HH OET ) E Y MR (1) AE e (D
) g (1) AR T (D HE Q) 1hiks - B (1) A ML (D I B (1)
HEOET (@) Ak BiE (2) A EPE () K #T (@) HIBOR7=  (2) BM O 4 (2
P 147 2L _ 34 ‘ 447 4 5L 6L
Rl RS 53 51 EJGREPN 50 A1 PE R 35 51 [5Re 15 45 Bl 25 14 5 il 14 45
Yoo B A/R 7/25 7/25 7/25 7/25 7/25 7/25 7/25 7/25 7/26 7/26 7/26 7/26 7/26 7/26 7/26 # B Em JE R GE A e
OBy 53] 9:30 10:00 11:00 12:00 13:00 14:00 15:00 16:00 9:00 9:30 10:00 11:00 12:00 13:00 14:00
O©: KR&H KA &Y Hh &Y L) il Cre il i il Lre i Hh i Hh i s Ek e ek PR KB
DNREM JEL A # e 3 A iEla H 3 7 e H HEH | AeAtR 3 Elw [ELC
O:2EKESM |EEm/s)| 1.0 1.6 0.4 0.2 0.7 0.7 0.8 0.4 1.0 1.3 1.1 0.8 1.0 1.3 0.6 %M R (M) KAk & T4-wh) WEH A
FEE AR ZERE | SIR(C) | 29.5 31.0 32.0 31.5 32.0 32.0 32.5 32.5 32.0 33.0 33.5 33.0 33.0 33.0 33.0
2 (%) 56 54 52 52 49 45 46 46 52 50 50 50 47 42 42




